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@ 217x0.1 ® 2170 x0.01

B
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@D 176 x 0.248 = 436.48 @ 1.76 x 248 = 43.648
® 17.6 x 248 = 4.3648 @ 176 x 2.48 = 4.3648
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@D 176 x 0.248 = 43.648
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@® 4.3421 x 100 = 43.421 @ 43.421 x 1000 = 4342.1
@28.67 x 0.1 = 2.867 @ 28.67 % 0.001 = 2.867

® 286.7 x 0.01 = 0.2867
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@ 4.3421 x 100 = 434.21
@ 43.421 x 1000 = 43421
@ 28.67 x 0.001 = 0.02867
® 286.7 x 0.01 = 2.867
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= (6125 + 5) x 3.11
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D 328 x 1.4 = 459.2 @32.8 x 0.14 = 45.92
@ 328 x0.14 = 45.92 @ 3.28x 1.4 =4.592

® 3.28x 14 = 45.92
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32.8 X 0.14 = 4.592
45.92 — 4.592
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@15%0.6x3=09x3=27
©58x0.6%x5=348x5=174

© 0.7x0.05x4=0.035x 4 = 0.14

@ 4.3%x0.8x3 =3.44x 3 =10.32

@ 0.33X 7.2 X 6 = 2.376 X 6 = 14.256

@ 5.8%2.7x3=15.66x 3 = 46.98
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136247} H U ). vR27

> E:

> HEeh: 13.624

A
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[ ]x 524 =1362.4
[ ]=1362.4+524

[ ]=26

— 2.6 % 5.24 = 13.624




45. oJH Fof 0.62 & FalloF & A FAE5t] 6202 FoFA T Y 44640
o] E]5 Ut HE2 A A4S 3he dupol ] £5HA] L.

> E:

> Hehl 44.64

Ads: []
[ ]x 620 = 44640
[ ]= 44640+ 620

[ ]=72
uR= 7] A7)
72 0.62 = 44.64




46. oH ol 2455 FolloF & A= AR 245 2 UHRlTiY o
3.7, UwA7F0.75 AT, BEEA AL H drplA] Al 2.
> E!

[> =eh 22393

g+ [eatd
[ J+245=37---075

[ ]=245x37+075=914
HF2A] AlATEHA 91.4 x 24.5 = 2239.3
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=7.5X 7.5 = 56.25(cm?)

w2bA, (P4 Bhere] Wol)= 56.25 x 51
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48. 827 x 512 = 423424 & ©o]-got, £AFHE AR A2 o] A
717
@ 0.827 x 512 = 423.424 @ 8270 x 0.512 = 4234.24
@ 0.827 x 512 = 4.23424 @ 827 x5.12 = 4234.24

® 827 x0.0512 = 42.3424

1A

B

827 X 512 = 423424

1 .
ORSE m%s}ﬂ

1 1
2 12x —— = _
827 X 5 XlOOO 423424><1000

0.824 x 512 = 423.424
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